& M 7 & 7 A
BEE Z R K
B % B © E R
S > -
SM7E6 ARDTBESEHAELERRIZONT
1 BRORERR
FHEHHIL. 8, 579 T, AIERHALL—777# (—8. 3%) &iFL
EEHIE.41AT. RIERBALE—6A(—12. 8%) LFL
X & ih X bl PN -
SIRERE &it
TN EE X S AM R HEHX kX - -
FAEHUE) 4,239 2,209 644 1,338 149 8,579
s -470 ~159 —49 ~107 +8 ~777
SEE (N 17 9 3 12 0 41
s -3 -3 -3 +4 -1 -6
B1EEHN) 5,210 2,841 861 1,709 243 10,864
‘i%iﬁ‘i%& -732 -202 -60 -108 +4 -1,098
A BRERFLE. BRERRBEERNEETHER
(BAP- SLINHEE - NIRRT - A - KD BBV EE., 1B - L A M EBH= R ER . BEFIFRER. i P ERRU R/ A1/ R)
(85) ) . ;
[BRIFEE#] o o [(BESER DA B FHEEHE] o
% | ast |18 |28 |38 |48 |58 |68 |78 |88 | 98 (108|118 |128] 100 o8 02 8 700
8.4 3.8 58.7 60.0
R7| 41| 9 7| 7| 4 8 &6 o 78 7.8 53.1
51.3N\ 52 4577'0 2’ a5 ey 300
Re | 91113 5/ 5 7 6 11 7 7 9| 5 8 8 . g0 0 s | - oo
R5 | 103| 9| 8/ 10 9| 4| 4| 9|10/ 12| 5| 7|16 26/ 8INB R /°° 54.7 ii; 300
4.0 31.0 ]
23.1 38'.8 h3.1 27.3 A 20.4
R4 | 75 4/ 6 7| 1| 5 6 7/ 10/ 4 5 1010 515 1o B 3258\ k6.3
7.7 15.0N\8:6 N7 100
R3 | 101| 6| 4| 6 7 5| 10| 12| 14| 12| 8| 10| 7 1032 S . = = B X oo
0.0 = = 0.0
2 1 1 1 1A 2A 3A 4R =B A 7A 8A 9A 108 1A 128
R2| o1 7] 8 6 6 4 7 8 7 8 8 S T amd s
5 —pEEahR BEREER b
31 922(7.8/6.2|7.8/6.0/5.2|7.0/8.4/9.8/8.8/6.2/9.2/9.8| , T T oML,

2 STESEESHEBENRR
SITEEEEESHEREGILT, 0644 T, AIERBILL —2084(—16. 4%) &iFD

SESITHREERII5A T, FIERELE—1A(—6. 3%) LED

2 HTPE APERERER CHEREPER, QEERATPERL(L. ARO LK
RERNFEEDEEZELD,

EREn AX BT .
LGS com| FEER ait
SAESEEER(I) | 310] 22| 191] 523] 541 0 1,064
[ —102]  —7] 28] —137] -70 —1 ~208
B REERN) 1 o 12[ 13 7 1 21
1 3] 3] +6] +o| -2 —1 -3
SHEBSTREERN) 1 0 10 1 3 1 15
1 -1 -2 +5]  +2 -2 —1 —1
3 BizHEBEEFHFELENRR
BerH R EEMEASSII1, 3044 T BIERBALL—1664(—11. 3%) &L
BHRR EEE . = _ _ _
X5 BGEENSTEE EEEES e HEs xR
SR 1,304 49 21 21
e -166 -7 3 4
EEBN) 5 0 (0) 0 0 (0)
i +0 +0 (+0) +0 +0 (+0)
BEEHN) 1,256 1 (49) 22 20 (0)
i -169 +1 (=7 -4 —2 (0)

X BEEOESER

¥ ORSTEZEORGEHR

4 HREERKICIABERFEERR (1 E—RFAMLLLE)

BREEIRICS SR AL B MIS47H T, BIER

Lt —5#(—9. 6%) &Y

R BRES ;
EE [0.25mg ozsmg - ﬁf ?fﬂ &t
=5} JpLE |k NF Ae
S B () 4 31 6| 37 5 1| 47
K +3] -11] o] -11] +3] =xo| -5
SHIETHHAHED) 0 0 0 0 1 0 1
K +0o| -1 =xo| -1 +1| =*o| =o0

X OR—BREAOEGER




